EduSahara™ Assignment

. Which of the following statements are true?
n
a) ( Xm) _ X(m+n)

b) a0 = 1 (a%0)

o (M) = (7"

m m m
d) a. x = a .x

m _n mn
e)a .a = a

m

x m
f) - = Xn

n

X

(i) {b,c} (i) {d,c} (iii) {ef,b} (iv) {a,cb} (v) {a,b}

69 49(9-5) 4(9-3)

. Simplify — — —
(36(9 5) ;(9-3) 4lg 5)
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(i) 69+3) 7(=g+1) g(=g+3) 4 (=9+10) ;(=g+1) g(=g+3) ) g3 7(=2) g0

(v) 6(79+10) ;(9-7) g(g=3)

. 110

(i) o (ii) 1 (iii) undefined (iv) 0 (v) -1

_17=

(i) 1 (ii) -1 (iii) O (iv) undefined (v) o«

. 100=
(i) © (i) 0 (i) 1 (iv) undefined (v) -1

- 00=

(i) o (ii) undefined (iii) 1 (iv) -1 (v) O

. -100=
(i) 1 (i) undefined (i) 0 (iv) -1 (v) o

. 02=
(i) -1 (i) undefined (iii) o (iv) 0 (v) 1



9. Find the reciprocal of 56

) . -5
10. Find the reciprocal of ( 5 )

7 6 6 5

(i) (-'57) (if) (-';) (i) (-'59) (iv) (1)® (W) (-';)

5
11. (42x77) =

M) 42x77 iy 4%x73° i) 4% 77 (iv) 43°x710 (v) 410k 73

(6°8) “x (8%) *x (1"’
2 (6(-6))5x(8(-2)) x(ll(_z))2=

8>< 21 12 . 18 _ .20 12

i) 68x821x 1112 (i) 618x82%9% 1112 (i) 61%x82%% 1112 (iv) 68x820x11

13. [(82)2x(85)5]+829

(i) 2 (ii) O (iii) 3 (iv) 8 (v) 1

4 4

1 [(2) () 1+[G) =(5) -

(i 1 (i) (-1) (iii) 2 (iv) o (v) 0
i i) (1) (i) o (v) o (v



Assignment Key

1) (i) 2) (iv) 3) (ii) 4) (ii) 5) (iii) 6) (ii)
7) (i) 8) (iv) 9) (ii) 10) (ii) 11) (v) 12) (ii)
13) (v) 14) (i)
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